/2-13 BOLT
/2 FLAT WASHER
/2 SPLIT LOCK WASHER

—~————
_— —
—_————
_

(2) 3/8-16 BOLT
(2) 3/8 FLAT WASHER
(2) 3/8 SPLIT LOCK WASHER

5/16-18 U-BOLT
U-BOLT SADDLE
(2) 5/16 KEPS NUTS

SWIVEL
CAST 356
ALUMINUM

(2) BAND & BUCKLES
304 SS (BANDS)
316 SS (BUCKLES)

CLAMP SADDLE
CAST 356 ALUMINUM

(2) 3/8-16 BOLT

(2) 3/8-16 BOLT
(2) 3/8 FLAT WASHER
(2) 3/8 SPLIT LOCK WASHER

POLE LENGTHS AVAILABLE
18", 24", 37", 46", 60", 74", 96", 120"

BAND LENGTH | MAST ARM DIA.
29" 3-7"
42" 7 11"
59" 12"-15"
70" 18"- 21"

NOTES:
1. STAINLESS STEEL HARDWARE.
2. AVAILABLE WITH CABLE STYLE CLAMP.

300 SERIES SS PEM NUT

CAMERA MOUNT YOKE
5052 ALUMINUM

ACM POLE TOP ADAPTOR
CAST 356 ALUMINUM

\EXTRUDED ALUMINUM POLE

-18 U-BOLT
LT SADDLE
KEPS NUTS

©0

PART NUMBER

$5-SB29-ACM-74

BAND LENGTH
TUBE LENGTH

THE INFORMATION CONTAINED [N ’ I —— . |
THIS DRAWING IS THE SOLE | - g
PROPCERTYCO(FDSKYBRACKEB ANYO m"I
REPRODUCTION IN PART OR WHOLE
WITHOUTTHE WRITEN PERMISSON MAST ANH MOUNTING WA RIWARE
F SKYBRACKET IS PROHIBITED. TITLE
ADJUSTABLE
APPROVALS | BY DATE CAMERA MOUNT
orAWN | TRC 5/16/11 (BAND CLAMP)
SALES
IZE | DWG. NO. REV.
ENGINEERING A SS-SB29-ACM-74 B
DO NOT SCALE DRAWING SCALE: NTSlCAD FILE: 55-5829-ACM.74 |SHEET 10F1




	Sheet1
	Drawing View1


